Math 6 - Unit 3: Expressions
Get a Clue (Order of Operations)

Name:

Class Period: 1

2 3 4 Date:

Wbt |

Harry Potter
Hermione Granger
Ron Weasley

1) 10+2+8=

2) 3e4+5=

3) 2°+2+3.75=

Albus Dumbledore
Severus Snape
Hagrid
Draco Malfoy
DObby!

4) 18-9+3=

5) 22+3+5=

6) 2+ (8+4)-8=

Hogwarts
Diagon Alley
GringotTs
Leaky Cauaron

7) 5¢3+15+3=

8) 3.502+(7+2) =

9) 2+ (10+2) +4=

Olivanders
Hogsmeade
Honeydukes

AzZKapan

10) 5+3°-2=

11) 9e5+1-7=

12) 1+10+(3+2) =

Lumos
Fiving Charm
Siencio
Expecto Patronum
Expeliormus

13) 7°-8+2=

14) 2+ (2.8+4)+ 1=

15) 50 (8-6)+4=

\A/ingordium Leviosa
Reparo
ACCiO

16) 5+55+5=

17) 3+ 5(18+3) =

18) 5+3%¢2=

19) 20+ (8-4) « 1.5=

20) 10+ 2-(15+5)-8=

21) 3+3°+9 e (4-1)=

Where?

What?




Find your answers below to eliminate people, places and things to determine who did the
crime, where they did it and what they did it with.

Harry PottTer | Hermione Granger Ron weasley
12 37 14
Alous Dumpbledore | Severus Shape Hagrid
3.7 28 11
Draco MalifFoy Dobby Hogwarts
10 15 5.75
Diagon Alley GringoTTs Leaky Cauldron
9 17 21
Olivonders HogsmMeade HONEYAUKES
45 16 3
AZKaban LUMOS Flaying Charm
20 39 10.5
Siencio Expecto Patronum Expeliormus
90 18 /.5
Whngaradum Leviosa Reparo ACCIO
46 13 6




